D view

FIZE / Product Number

AUX - -
Ht & W=t ik Dtk
H dimension W dimension D dimension

BT =hJ)LT—74 / Technical Datall

#B{ThILY / Recommended torque : 0.3N=m ~ 0.6N*m

R

JLRE
Rubber feet

EFE X4L#%k / Original trapezoid head screw specification

EXP/H)

Screw (P or H)

@ =

i

Color Type

HEHINZ / Components

No. 2 %5 / Part name #E / Pcs #'&E / Material - RmEME / Color+Finish
' a—+—Javy 4 TILEF A Fv X+ ADC12 DIVIN— TS - B (RERRLE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
9 Btk 4 TILSHRHH AB063S-T5 DIWIN— TV - TILIA RO THE
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
3 A= : 7 JLZHR A1100P DIWIR—, TTZ9Y-TILIAh
Top cover Aluminium A1100P Silver , Black*Anodized
4 Thi— ’ 7 LR A1100P DIN— , TZ9T-TILIAh
Bottom cover Aluminium A1100P Silver , Black*Anodized
5 dJLE 4 AT L ITo3v9
Rubber feet Rubber Black
6 ER{FE R (M3 x 8) 1 &% ZYTILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
; B{ER (E#M3 x 5) - &% ZurIL Ay R OA—+
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate

IE’ 752 / Phillips 7vA / Hexagon—socket
414k / Color Type
i0& / Code a—7+—7Av?% / Corner block {BI#R / Frame $H/3— / Top cover | FTH/3\— / Bottom cover
S S < JLs\— / Silver < JLsN— / Silver < JLsN— / Silver < )L1\— / Silver
S B 75974 / Black < JLs\— / Silver < JLsN— / Silver < JLsN— / Silver
B X 75974 / Black 75974 / Black L JLsS— / Silver 2 )LiR— / Silver
B B 75974 / Black 75974 / Black 7574 / Black 7597 / Black

2
a4/ Title
TAKACHI| #R2iahFEMT S FILSaURO— LY R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
AR/ Approved 1% X]/Checked #1[X/Created FIF /Product number RFE/Scale
iR 3 A AUX99-43-16RO-C10] —

1ERK B /Date

2025/06/04

1/ 6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




153

A-A(1:55)

D view

160+0.5

5.5

92

B view

E view
430+0.8
A —
(] (1] ()
B J L] @ B
A —
A view
C C
¥ ¥

B-B(1:55)

1

423

C view

F view

b (]

.o (]

C-C(1:55)

113

383

a4/ Title
TAKACHI| HHASHANDTFERIE 7IILEarka—LiRyIR (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
AR/ Approved 18X/ Checked #1[X/Created FIF /Product number RE/Scale
1:55
iR e A AUX99-43-16RO-C10O sy
1ERk B /Date 2025/06/04 2 /6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A {Blfk / A Frame

380 22.5

98
91.7

2.5

14
K
1)

N2

M3
5 2-M3FH¥SR S
2-M3 Countersunk

X R EEEIHE / Same on the other side.

M / Front side

B {8k / B Frame

159
N/
1)

N2 |

M / Front side

3.3

3.3

ZEE / Back side

ZEM / Back side

a4/ Title
TAKACHI| BXESH4DhFERIE B4R () C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 3%/ Approved 1&[/Checked #[X/Created FIE /Product number RE/Scale
1:3
iR : B —
H99 — W430 1ERK B /Date 2024/07/25 3/ 6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

110 22.5
(L
=3 ~
© >
2.5
\-,z:,-a
-
- 7 A\
N \/]
5 2-M3EHS5R 5

2@ / Front side

D {8l#% / D Frame

2-M3 Countersunk
¥ RXTEE FEHR / Same on the other side.

75
&)

2@ / Front side

3.3

3.3

Z @ / Back side

2 / Back side

a4/ Title
TAKACHI| Bt ahFERTE IR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:2
iR E: B e
H99 - D160 1ERK B /Date 2024/07/25 4 / 6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4-R14.7

130

M / Front side

419.4

400

B3FiE / Max dim. 383 £ 0.5

sHi& / Max dim. 113 & 0.3

#

el

6-@4.5

IS o PAY
RES—MAI
Surface protective film side
\& o 7,
Z @ / Back side
4/ Title
TAKACHI| HAZHINFEKIE FN— () C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
= - = . RF&/Scale
7 5%/ Approved 18X/ Checked #1[X/Created FIF /Product number
1:4
iR X Fip:N R—/Page
W430 - D160 1ERk B /Date 2024/05/15 5 / 6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4-R14.7

130

RME / Front side

419.4

400

B3FiE / Max dim. 383 £ 0.5

sHi& / Max dim. 113 & 0.3

#

el

6-@4.5

REE —HA

Surface protective film side

Z T / Back side

a4/ Title
TAKACHI| HAZHINFEKIE THhi— () C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
7&K R/ Approved 1&[/Checked #[X/Created FIE /Product number RE/Scale
1:4
iR X Fip:N R—/Page
W430 - D160 1ERk B /Date 2024/05/15 6 / 6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




